
BIDMAS L1 L2 Mark Scheme  

1 3 [1]

2 0 [1]

3 5 [1]

4 10 [1]

5 52 − 42 = 25 − 16 (= 9) [1]

"9" ÷ 3 = 3 [1]

6 54 ÷ 9 (= 6), 12 ÷ 2 (= 6) [1]

"6" − "6" = 0 [1]

7 72 (= 49) [1]

"49" − 24 = 25 [1]

8 20 × 8 = 160 , 122 (= 144) [1]

"160" − "144" = 16 [1]

9 82 (= 64) [1]

"64" − 4 = 60 [1]

10 52 = 25 , "25" − 4 (= 21) [1]

3 + "21" = 24 [1]



11 3 + 8 = 11 , 2 + 8 (= 10) [1]

"11" × "10" = 110 [1]

12 8 × 2 (= 16) [1]

3 + "16" + 8 = 27 [1]

13 31 + 33 (= 64) [1]

"64" ÷ 8 = 8 [1]

14 92 ÷ 46 (= 2) [1]

5 + "2" = 7 [1]

15 59 − 39 = 20 , 22 (= 4) [1]

"20" ÷ "4" = 5 [1]

16 31 − 27 (= 4) [1]

28 ÷ "4" = 7 [1]


